EEEH 16 5 B ff NE
R FHH 0.5tB~1.0tLL F (mah—ARHIBL%) 3 = 10,000 30,000
FHHE 0.5UB~1.0tLA T (m=ah—4h) 0 =) 16,400 0

FHHE 0.5t ~1.0tLLF (134F95) 1 =) 22,800 22,800

Fe . 1~ 1.5t0L F(ooh —RHIBL%) 3 5 15,000 45,000

FHE IUE~15tLLT (mah—4)) 0 = 24,600 0

S 1UB~1.5tLL T (134EFaE) 2 = 34,200 68,400

NS 1UB~2t) F (o h — AR B 4 = 5,000 20,000

/NS 16 ~2tLL T (134ERGR) 1 = 8,200 8,200

158 B B (1 AR E) 2 = 8,200 16,400

A B R sk 3, 5 x— (247 1) 9 = 17,650 | 158,850
43— (1292 1) 5 = 12,850 64,250

0 H B (2420 H) 2 =) 17,540 35,080

ait 468,980

(%

7 4)



